=
>Z

DH3F

(CHITDBERETETEFORN

-

4 N

BHEEMAE

=k A=$507FN

~

- 4
. - iEE
FEEREAEH(a)+(b) FRt
42558 407{8M
(2)FTEERFTEEE 42255 405(8M
(b)5IENEFFESE 3/AE 2{8H

\_

BEEE (a)

RUNAE (b)
*KILE (c)

&3t (a)+(b)-(c)

DHBEER

BERIETEEF FIRE0) %S

1&259,141/8M

FEE3UEM (x1)
99{EM
1318

9,257{M (>.'<2)/

~

N (T

7R
BEFHERIXA A

97{EM

REEE (a)

(&5t (2)+(b)-(c)

<&E>GHI 2 FER

BERLAFTEES FIRSD) %S

1§259,2201/8M
FARS5218M (%1)

KRINAE (b) 116/
KRihg (c) 36{8M
9,353/

~

—/

B

—

i

=

hhEs

E’ﬁﬁ.‘:l:‘.i‘&i%

KFFaE
HAATE

=

* WERARTREZLTVSIL), AFTERZF I UEETEIELE—ERLAL,

[ ERBEUNAGT(A) *3) ]
503{&M

X1 FEROFLAR : HEREE (30/EA) F

X2 DHBFERRIEERILE : 9,257(8M = DHRFEEREESST : 9,3538M + FBFREMUGELR 1 A28 (%3)

X3 FEFHUNZZERA(A)-(B) A28(EH

SEEM2

4 N

BE)EA-hH—-F
IEEESET(a)+(b)+(C)
348{EH (RFIB45EM)

(a)ASR 29954 21080 (WHE 27/EM)

(b)IFyy 48 268FHa 73(8M (RFIE 10/EM)
\_ (D48 27358 65(8M (WAIE 8fEM) )
4 N

REHREET>H—
1B eI
312767 7EA (WFH80.9EM) )
4 )
BBERE S
13476 1728 (WR817E8Mm)

/ S&EWE A /IEEBE RIS
/EREEEY Y-

FAFEEESET (@) +(b)+(c)+(d)
4. 1{2M(K#20.6/2M)
(a)BtE RS SIESYE 1.5
(D) AU EADKE 0. 11EM
(C)UBIILSAFT AOARAENE 1.0/EM

k(d)ﬁﬁ@iﬁ%b@ﬁ%ﬁ 1.4/8M

/

[ BREMEE(B) 09
531{5M

+ DHHBFEREMEEEER : A68EH



